
DOOR CLOSER

MACHINE GUARDING
WAREHOUSE PARTITIONING

PROPERTY PROTECTION

88750300 ver. 004 PROTECTING PEOPLE, PROPERTY, AND PROCESSES.  |  troax.com

ASSEMBLY INSTRUCTION
– JUST FOLLOW ME

KIT 36908010

1/5

INTERACTIVE
ASSEMBLY

INSTRUCTION

3D

https://instructions.online/?id=2345-88750300


www.troax.com

A
rt

 n
o

: 8
87

50
30

0 
ve

r. 
00

4

2/5

Kit 8010 Door Closer
Kit 8010 Door Closer 36908010

KIT 36908010

13  8

Bag for kit 8010 88698010

x2
M8x35

x2
M5x16

x4
M5x35

x3
M5x45

x2
M5x40

x2
M8

x6
M5 M5 M8

x1 x1

x8 x2

3 4



www.troax.com

A
rt no

: 88750300 ver. 004 

3/5

2

4

1

3

KIT 36908010

20

15 4x 6

167 50

2x 9 15

136 50

Machine
guarding

M8x35 M5M8

13

M5x35 M5 M5

 8

3

M5M5x16 M5

 8



www.troax.com

A
rt

 n
o

: 8
87

50
30

0 
ve

r. 
00

4

 4/5 KIT 36908010

1
20

11

4x 6

167 50

Warehouse
partitioning

2

M8x35 M8M8

13

3

M5x35 M5 M5

 8

3
4

M5M5x16 M5

 8

2x 9 15

136 50



www.troax.com 5/5KIT 36908010

1Property
protection

5x 6

16
9

20

6,5

173,5

9040

20

12

9

2

M5x45 M5 M5

 8

4

3

M5x40 M5 M5

 8

4

A
rt no

: 88750300 ver. 004 


